PN RS0
HE: S42 M4, RS DHE LS (STHYSN/SY - 55)
Chl: 20l AbeI Dl B E A (cto: a9
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
== 20 53,465,899 48,655, 189 4,810,710
= 3,029,209
J| 3,916,247
= 46,520,443
SHE M KRS - 0HHE 23 (sElEsd /58 - = 53,430,898 48,618,619 4,812,279
)
= 3,029,209
J| 3,916,247
= 46,485,442
Ao H 11,559,865 10,975,000 584,865
= 505,709
J| 2,432,247
= 8,621,909
ANEJHIEARMD 617,300 696,050 AT8,750
202 04l 2,300 2,300 0
01 =LH A HI 2,300 2,300 0
OANEZJ0 & THol=+ BRF 2,300
403 XSS X201 H 615,000 693,750 AT8,750
01 "X EHA2E = 615,000 693,750 AT8,750
odlgsote A Sist 480,000
OAN&ZJ0 SZHA 135,000
0oy 25t 645,300 177,000 468,300
308 X EHSOIA 310,750 0 310,750
01 HXSHILAEXS 310,750 0 310,750
ORN=s4tE HFMA I olopt &F 310,750
403 XSS X201 H 334,550 177,000 157,550
01 XM= xR 334,550 177,000 157,550
OXHN=s4&E AHMA Y el &F 334,550
HAaFm == M4 802,300 1,014,700 A 212,400
202 044l 2,300 2,300 0
01 =LHA B 2,300 2,300 0
OMA HHMA ADE 2,300
307 glz2tol & 800,000 800,000 0
02 QIHH &AL E X 800,000 800,000 0
OMAE ==2qEX2 =LK 800,000
DRITH A OFH A4 A 746,000 384,000 362,000
308 AUXIEHSOIA 656,000 384,000 272,000
01 HXESHBILAEXS 656,000 384,000 272,000
O HMEfz=etd SHMA 2= AlE HbH 80,000
OIDHRITHA OFF A A 576,000
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2A: RS
= A

HY: SM2 MM, RS OIE L (SHHLLL/5 - &)
Chl: 20l AbeI Dl B E A (cho:d 8l
. 4
M- B3 S (31H) - HRAY - i 52
403 XM S0l & 90,000 0 90,000
01 REXIEHX A2 2 = 90,000 0 90,000
OIDHXITHA AFX 90,000
W=t Ma - RS 763,400 1,002,200 A 238,800
202 o4l 2,300 2,300 0
1T 2UHA b 2,300 2,300 0
Ol=3ts FRFA 2,300
403 XSS K201 H 761,100 999,900 238,800
01 XX A2E = 761,100 999,900 238,800
Ot ¥ M 228,200
Osty MizsS X 165,400
OYsZ & JIgxy 367,500
erallgtxd 240,650 279,800 239,150
202 4l 2,300 2,300 0
01 =LA I 2,300 2,300 0
OQadIgtxd HREFA 2,300
308 X EHSOIA 28,350 40,500 A 12,150
01 HXESHHILAEXS 28,350 40,500 A 12,150
Ol & &3 bl 28,350
403 XSS K201 H 210,000 237,000 A 27,000
01 UtXIESH 2L = 210,000 237,000 A 27,000
OLNSE Q& Mt 210,000
SEXZHEND 43,200 85,500 A 42,300
403 AXIEHHS X201 & 43,200 85,500 A 42,300
01 XM A=E = 43,200 85,500 A 42,300
o=s ANEE =4 43,200
NS0 SHst TR (AERMSUsS) (=22 980, 156 897,131 83,025
J| 753,966
< 226,190
403 XM S0l & 980, 156 897,131 83,025
J| 753,966
& 226,190
XS A2E = 980, 156 897,131 83,025
OA& 20l & st 980, 156
J| 753,966
= 226,190
ANE20 Stz X2 (2= "ot MulAE) (2 179,400 131,300 48,100
J| 138,000
= 41,400
403 XSS AH201H 179,400 131,300 48,100
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PN RS0
F: S MM RS - 0HE (s d/s - &)
Chl: 20l AbeI Dl B E A (cto: a9
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
Jl 138,000
= 41,400
01 XIEH 22 = 179,400 131,300 48,100
©XL= HIJIE THHHAIE 179,400
J| 138,000
= 41,400
PH=Z0F ICTESE NJA(AMET ANEEE)(=1) 40,030 20,413 19,617
J| 33,358
= 6,672
403 XSS X201 H 40,030 20,413 19,617
J| 33,358
= 6,672
01 XXX 2= 40,030 20,413 19,617
OAOIEH® ANEES 40,030
J| 33,358
= 6,672
SHEO0 dUXoIEEE28sH(HUXNEZAIEXA)(= 657,422 741,965 A 84,543
2)
= 505,709
= 151,713
403 XSS K201 H 657,422 741,965 A 84,543
= 505,709
= 151,713
01 X EHA2E = 657,422 741,965 A 84,543
OUHUHXIZZAIZXA 657,422
= 505,709
< 151,713
AR >Z I MA(HAIAHET ) (2 INAEXH) 3,987,000 3,987,000 0
307 21201 A 3,987,000 3,987,000 0
02 QIZtE &AL E = 3,987,000 3,987,000 0
Ot EH 3,987,000
H2ReMARS(MNH2AL)(Z2) 1,143,507 230,490 913,017
J| 952,923
= 190,584
403 XM S0l & 1,143,507 230,490 913,017
J| 952,923
< 190,584
01 RIXIEH A2 E = 1,143,507 230,490 913,017
(OFSPNDSESPNES' 1,143,507
J| 952,923
= 190,584
FTAAFE H & 8 & 22ldl X (=21) 20,000 17,000 3,000
J| 20,000
202 44l 6,000 5,000 1,000
J| 6,000
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2A: RS
= A

HE: S42 M4, RS 0HE Y (STHYSN/5Y - 5&)
ol R0 ARl E S T
2N -3 - (3H) - NHEAMY - BE= Ofl &F o ﬁlgi Hws2
04 =Xl o1 bl 6,000 5,000 1,000
OFTAAL M 8l 28 2 et AR 6,000
ol 6,000
307 91240l & 14,000 12,000 2,000
bl 14,000
EIEPONTEES 14,000 12,000 2,000
OFTAAIIIEl 8 2 ZHolHl XI” 14,000
p] 14,000
SEXNS(HA, %S) BMALHUS XA(2D) 245,700 235,443 10,257
ol 189,000
= 56,700
403 XX GHAI S TH2 0] ® 245,700 235,443 10,257
ol 189,000
= 56,700
B ETES 245,700 235,443 10,257
OHA, %8 AL B3 X 245,700
bl 189,000
= 56,700
SEXRS(M)MMAEENE N/(2D) 448,500 555,308 106,808
bl 345,000
= 103,500
403 XHXIEH A S XHE 0l ™ 448,500 555,308 106,808
p] 345,000
= 103,500
B Y ETES 448,500 555,308 106,808
©O0I4 THHHAIL STHEH X2 448,500
gl 345,000
= 103,500
SAERESHHS U SN2 REPINM 7,762,430 6,272,928 1,489,502
= 1,840,000
ol 1,460,000
= 4,462,430
2zc 54 862,225 547,465 314,760
202 01 bl 3,825 3,825 0
IENEI 3,825 3,825 0
OZURC 2H3 YLFT 3,825
207 A RO 20,000 0 20,000
01 e gAY 20,000 0 20,000
OLUNSHNAME S8 By ESY 20,000
307 QI2+0| & 50,000 50,000 0
04 QIZHBHAAI 2 50,000 50,000 0
O3B RLECS PO I3 L B2 =0 50,000
308 XHXI € XIS 0l & 365,400 381,400 16,000
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A
X XH -
(=

S

==
[==Jpw—

. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2

01 =2 LA BI 2,400 1,530 870
OXSHEH g2=2 2,400

308 XXM SO0l & 315,000 150,000 165,000

113 2S0HEE &R E A I 315,000 150,000 165,000
OXZBdH 24 315,000

=224 JEMMYA 25 XE(22) 40,000 27,500 12,500
= 40,000

308 X EHSOIA 40,000 27,500 12,500
= 40,000

01 HXESHILEXS 40,000 27,500 12,500
OZE=4A JI=daHA 2= X& 40,000
= 40,000

MRS 628,127 818,300 A 190,173

202 O4Hl 2,550 2,550 0

01 =LA BI 2,550 2,550 0
OMXRE JIgtEE gRF2 2,550

403 XSS AH201H 625,577 815,750 A 190,173

01 AtXIEMA2Ex 625,577 815,750 A 190,173
O&XNIM2SAE X3 425,777
OAPC ANl 2= 126,000
OMXIRE A4 -l XN& 73,800

MlsE 2435 147,000 510,000 A 363,000

308 UXIEHSOIA 147,000 210,000 A 63,000

01 HXESHBILEXS 147,000 210,000 A 63,000
O=sgEeds ZTEM K& 147,000

sS¢tE 24 g4dsl 384,130 391,330 AT7,200

201 L2 1,000 10,500 29,500

01 At 22l tl 1,000 10,500 A 9,500
OowmyY 435 dRFd 1,000

202 04l 2,300 2,300 0

01 =LA Bl 2,300 2,300 0
OozY 243t HRFA 2,300

207 A RIH Y| 20,000 0 20,000

01 23 E49H| 20,000 0 20,000
o= =S4 AKX RSHH 48 JI2HE =8 20,000

308 XXM SO0l & 41,630 23,630 18,000

01 AXEHBAEEES 41,630 23,630 18,000
o=d ZEM XA 23,630
Oozdg sttE Ail3s 2435 18,000
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2A: RS
= A

Hu: SN2 MM, RS DY LB (SAHYSN/5Y - 5&)
O9 SAZSSEHE U S42 RSPENM T
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
403 XHXIEH I S XHE 0l ™ 319,200 354,900 35,700
01 REXIEHH X2 2 = 319,200 354,900 35,700
ORY SM2 ASTIHA 25 319,200
Teisse 2y =0 14,000 20,000 A6,000
307 QI2+0| & 14,000 20,000 A6,000
02 QI AMALEE 14,000 20,000 A6,000
ozdgdsIt 28 14,000
DEHBHITA(2D) 1,560,000 1,487,663 72,337
= 1,200,000
= 360,000
308 XHXI €A S0l & 1,560,000 1,487,663 72,337
= 1,200,000
= 360,000
0l RXISHBARES 1,560,000 1,487,663 72,337
CEEREN 1,560,000
= 1,200,000
= 360,000
SAS0HYTA(HE)(2D) 126,000 126,000 0
p] 63,000
= 63,000
307 QI2+0| & 126,000 126,000 0
I 63,000
= 63,000
02 QI A MAR B E 126,000 126,000 0
o=sSUHE N 126,000
ol 63,000
= 63,000
SASUTSSHE (APC)XIR(22) 576,000 216,000 360,000
ol 480,000
= 96,000
403 XX S S TH 0| ® 576,000 216,000 360,000
ol 480,000
= 96,000
01 RXISHAH Xt 2 = 576,000 216,000 360,000
OSLE LIRS HE (APC) X 2 576,000
p] 480,000
= 96,000
gz IsZgGH s4 N (=21) 580,000 1,073,000 A 493,000
= 500,000
= 80,000
403 XHXI SHAI S T =20l ™ 580,000 1,073,000 493,000
= 500,000
= 80,000
01 IXISHH X2 E 580,000 1,073,000 493,000
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SN RS0
A SpE MM, S - 01HE 2 (sl a/sY - &)
Ol SAZMARY CEER-T
SN -EB .S (SH) - NEAY - BES O &k 2 b HZE2
= 108,500
= 32,550
308 AHXIESHMSO0lIA 141,050 130,000 11,050
= 108,500
== 32,550
01 XA EES 141,050 130,000 11,050
OGAP Ot o 24 X & 141,050
= 108,500
== 32,550
GAP QIMAIAE Be(=1) 150,000 13,000 137,000
= 150,000
403 XX S M S K201 A 150,000 13,000 137,000
= 150,000
01 AIXISHHMA2E X 150,000 13,000 137,000
OGAP PIMAIE B2+ 150,000
= 150,000
TCMHA dESHEYE MY BSH SAXH)( 25,000 75,000 A 50,000
=21)
= 25,000
308 XX SHHMSO0IA 25,000 75,000 50,000
= 25,000
01 IXSHHIAEEXS 25,000 75,000 A 50,000
OB QMY TEH TAEY 25,000
= 25,000
FHOote EE NJ AP (ZR)(EX) 31,200 0] 31,200
J| 24,000
== 7,200
403 XHXI A S X =0l & 31,200 0 31,200
Il 24,000
== 7,200
01 AIXISHHM A28 X 31,200 0 31,200
OO IteE LXE X 31,200
J| 24,000
== 7,200
StNgA Resdts 32 32,881,583 29,991,781 2,889,802
= 400,000
== 32,481,583
S22 stuzgA 2 332 32,216,118 29,160,981 3,055,137
202 4] 3,830 3,830 0
01 2 Y| 3,830 3,830 0
0FBZ BHDNIA YPEA 3,830
308 XX SHHMSO0IA 32,212,288 29,157,151 3,055,137
NP EREES 32,212,288 29,157,151 3,055, 137
OX&EH stnugs XN 29,408,743
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